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Question 1. 30 points

Victoria’s preferences for lipsticks (x;) and bags (x;) are represented by the
following utility function:
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a. Derive the demand function for lipsticks and bags as the functions of price of a lipstick
;) and income (m)? What is fraction of income spent on bags?

ice of a bag is p, = $5 and
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Q= Qi+ Q) and two firms with constant MC = 5, TFC = 0. Find the Nash (Cournot)
equilibrium profit per firm. (10 points)

Question 4. 30 points
For each of the following questions, state True or False and explain briefly.

a. A natural monopoly occurs when a firm cannot operate at an efficient level of
output without losing money. Many public utilities are natural monopolies of this
sort and are therefore regulated by the government. (10 points)

b. Pareto efficiency is an economic state where resources cannot be reallocated to
make one individual better off without making at least one md1v1dual worse off.
(10 points)

As long as thg welfare function is mc(w%suzg_' each individual’s utility, a welfare
maximu h every Pareto efficient allocation

inction. (5 points)
rofit line is an upward sloping
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